>
N & o & AF & H Al A
20198 & =0llah LB & X
2AMd: DS
M S SH0 HswsSHMHIATMA =2HE
Sl DS XFF 20| X4 CERED
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oS 17,033,397 14,325,632 2,707,765
= 195,954
s 1,922,500
< 566,941
Al 14,348,002
SEHQ HSWUSHMUIAMA &E 9,819,001 7,956,855 1,862, 146
= 195,954
= 454,441
Al 9, 168,606
sns HEH 2FJ|g =4 9,799,001 7,936,355 1,862,646
= 195,954
= 454,441
Al 9, 148,606
AMUHA BXIELGES IS ZAEY 50,000 50,000 0
207 RO 50,000 50,000 0
01 A3l 50,000 50,000 0
OALIHA BX - B d WSEXA Y 30,000
OAMUHA 3 &M NSE ZAM 829 20,000
ANUHHA BXd 2283 X2 1,698,837 1,698,837 0
307 glz2tol & 1,698,837 1,698,837 0
09 2+=HAHEEXS 1,698,837 1,698,837 0
OAUHA BX-d 248 MZ (MY, SXIE
) 1,698,837
2x8Hd |FItEx3 A& 3,531,000 3,531,000 0
307 g1+l & 3,531,000 3,531,000 0
09 2HAHAEXS 3,531,000 3,531,000 0
OANZEXE RIEEXEZ XE
294,250,000 x12& 3,531,000
2=8AH MEXNE X= 182,700 77,700 105,000
307 gl2tol & 182,700 77,700 105,000
09 2HAHAEXS 182,700 77,700 105,000
OAMUHA HAX (B0, NEIIESQ) 87,700
OAMUHA HEXA(ZFEX dakd) 80,000
OANUHA THE X (AW A 0I0IX E8) 15,000
2+ MIEXE NS(EX) 1,094,718 712,157 382,561
< 383,757
Al 710,961
307 glz2tol & 1,094,718 712,157 382,561
S 383,757
Al 710,961
09 2HAHAEXS 1,094,718 712,157 382,561
O=2=gH MAXNAS(HAH) 1,094,718
= 383,757
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2AMd: DS
M S SH0 HswsSHMHIATMA =2HE
S sns AFH 20|18t =4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| A 710,561
Hzsnss2d €1 & 23| 515,070 540,110 A 25,040
201 €2l 233,070 208,110 24,960
01 At 22/l 207,870 168,270 39,600
ONsSYRFE At 22l 27,870
QHEAIS (M EXE)E ANEER 180,000
02 =224l 25,200 39,840 A 14,640
OUSYRFT RERS 24,000
Os2d 2E2X HIIR=s
10,000& 100 x12& 1,200
401 Al Bl 28I 282,000 262,000 20,000
01 A& HI 282,000 262,000 20,000
OAlLIHA 523 4X 170,000
SHXS HASZE &X
10,000,000 *109H A 100,000
MUK S HASZE &X
10,000,000 *7H A 70,000
OAlUiH A s28 24+ & FH 60,000
OHZ =F e wuM S =2l 5,000
OAUHA EX BEXE X & =2 10,000
OAUHA ST dEX EA HA 5,000
OAlLtHA s2&E 33 10,000
OHAlI&sZ2ZE 23l 22,000
BHAISZE & 12,000,000& 17 £ 12,000
BAISZE RAES 10,000
OIAEDIE Al&IHM 6,000 6,000 0
206 M= Hl 6,000 6,000 0
01 =8l 6,000 6,000 0
OHDIE 3t&Ea HoYEFE 7 6,000
OAEHOIE ANENL(EX) 13,108 174,000 A 160,892
= 1,154
< 3,600
Al 8,354
402 RIZ2FRt20l ™ 10,800 24,000 A 13,200
< 3,600
Al 7,200
02 22t X2 AL E = (01X THE) 10,800 24,000 A 13,200
OHAHOIE =g MZ4H L (DXHOE,
olgHOIg) 10,800
< 3,600
Al 7,200
405 TtobFH S| 2,308 0 2,308
= 1,154
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A S
M S SH0 HswsSHMHIATMA =2HE
S sns AFH 20|18t =4 (&
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 1,154
01 AL EZFH S 2,308 0 2,308
ONdotaHDIE S8EZE EXEH 7Y 2,308
= 1,154
Al 1,154
ZOHCISEA 2H(EX) 314,400 297,000 17,400
= 80,000
Al 234,400
307 21201 A 314,400 297,000 17,400
= 80,000
Al 234,400
05 RIZt2IEt = 314,400 297,000 17,400
OHHZSEA 2EXA 314,400
= 80,000
Al 234,400
ALK E AL 73,500 24,695 48,805
307 gl2tol & 73,500 10,000 63,500
02 IZtF M AHE L 73,500 10,000 63,500
ORYE2&Ia nsZHAA 10,000
OEHE EAl SHH 2 60,000
OusHH ZHe EsAtY X 3,500
EHAIKI AL (B X) 129,750 111,156 18,594
< 52,675
Al 77,075
307 glz2+ol & 129,750 111,156 18,594
= 52,675
Al 77,075
02 It M AHE X 129,750 111,156 18,594
OSSEHAl 2 37,500
< 25,000
Al 12,500
OHANRS IESZ N2 AY 67,500
< 20,250
Al 47,250
OCHARSB ItESHE XA 24,750
< 7,425
Al 17,325
AMUWHA K& AS 105,400 140,000 A 34,600
402 RIZ2EX20l ™ 105,400 140,000 A 34,600
01 RIZE Xt 2 AL E = (REATH &) 105,400 140,000 A 34,600
OAUHA LED BRI dae 4X(5H)
1,600, 0002 »9CH 14,400
OAMUHA TtsHMIE £X 91,000
AMUHA 42N 1,590,000 230,000 1,360,000
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2AMd: DS
M S SH0 HswsSHMHIATMA =2HE
Sl HERE AFH 2YI|Y 24 (e
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 1,590,000 230,000 1,360,000
09 2HAHAEXS 1,590,000 230,000 1,360,000
OANUHA R8s &AEA 90,000
OAUHA &SN £A8d 1,500,000
HEsnssdd 41 ¢ ExFH(EX) 35,800 53,700 A 17,900
< 7,209
Al 28,591
401 AIEHI L 2] 35,800 53,700 A 17,900
= 7,209
Al 28,591
01 A& Bl 35,800 53,700 A 17,900
OHASZ2E B ZHAE £X 35,800
< 7,209
Al 28,591
=2 38E 8 WS (DRT) AL 80,000 60,000 20,000
2 40,000
Al 40,000
307 glz2tol & 80,000 60,000 20,000
2 40,000
Al 40,000
02 LIt HAMHEE 80,000 60,000 20,000
Oolzd =28E8HA(RT =< 80,000
= 40,000
Al 40,000
HARBAIAEBIS) S £ 2Y 44,568 100,000 A55,432
201 2et2 Y| 27,468 0 27,468
02 2324l 27,468 0 27,468
OFE=TEX, ¢HUIl RHSHE
16,000 *50CH =12 9,600
oSt &1z 14,0003 »5CH «12& 840
OZctREHH 29l 396,000 * 43CH 17,028
308 XXM SO A 17,100 100,000 A 82,900
10 B2 SHUe3AXEAE A 17,100 100,000 A 82,900
OBE+&ZEX RNl 27,5002 450 «12& 14,850
O8& CHUDII(BIT) 22l 450,000& +5CH 2,250
ERAIZXEXI & 260,000 130,000 130,000
= 46,800
Al 213,200
307 glz2tol & 260,000 130,000 130,000
= 46,800
Al 213,200
09 2HAHEXS 260,000 130,000 130,000
OEAl SEM 22 X 260,000
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e DFA CCTV A
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= Al2el
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2AMd: DS
MM OFEID BRlE MF REBE 7S
Sl DEAL 29 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 37,500
OkLehdls s EXAY 75,000
< 30,000
Al 45,000
EHAIE 2e] 720,000 320,000 400,000
401 Al HIZ 2018 720,000 320,000 400,000
01 A& HI 714,960 317,840 397,120
OXNEHEZ HHIML(RAE=)
300,000,000& *99.28% 297,840
OQa NHENHZ MHEAS
400,000, 000& x99.28% 397,120
ONENEZ ANE=S RAEFAEY 20,000
03 Al 2 THHI 5,040 2,160 2,880
OXNEANEZ FHAY 300,000,000& *0.72% 2,160
OQa NENMHZ HEAS
400,000,000& x0.72% 2,880
NEAHEE 50,000 0 50,000
201 Ler24] 50,000 0 50,000
01 At 2t 2l 50,000 0 50,000
OLJAL tHa A A 2 Ity 50,000
EBAZSEMS SS2700 OtAE XNAME 45,000 0 45,000
s 22,500
Al 22,500
401 Al HIZ 201 8] 45,000 0 45,000
s 22,500
Al 22,500
01 A& HI 45,000 0 45,000
OEAEdRUSHEEX 25,000
s 12,500
Al 12,500
OEtAZHTL 20,000
s 10,000
Al 10,000
iglo] nsetd 20,000 20,000 0
2539 22 20,000 20,000 0
401 A& HIZ 201 I 20,000 20,000 0
01 A& HI 19,784 19,784 0
ONgol E579% NS RIES
20,000,000& *98.92% 19,784
03 Al 2 THHI 216 216 0
ONgol E5+79% ANds fXIES
20,000,000& = 1.08% 216
EHE =XE3 =4 3,905,000 4,305,000 A 400,000
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2N
X ZH -
L= B

el

o re &

St
dotn Helgt A3 DNEEE A=
BIE =X=3 =4

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Fag 1,900,000
Al 2,005,000
SHEIE HUHAMY 105,000 505,000 A 400,000
201 Bt 49d]| 25,000 25,000 0
01 AP 22| H| 22,800 22,800 0
O B2HF=XNE SH&EA 22MEs 7Y
600,000 1000 & 6,000
OS2Y TYFIY 20/5T4 Y2
2,800,000& 60 & 16,800
02 E2=2=24%H| 2,200 2,200 0
O BH9F=XNE St&A 22l
100,000& *223]| 2,200
401 AIEHIZL 201 Y| 80,000 480,000 A 400,000
01 A& H| 79,136 476,256 A 397,120
OZ2LF=x& EHAMY 80,000,000 x98.92% 79,136
03 AlE 20| 864 3,744 A 2,880
OZ2EF=XE HUHAMY 80,000,000 *1.08% 864
SYEIE ZAEANS(EX) 3,800,000 3,800,000 0
= 1,900,000
Al 1,900,000
401 Al HI L 204 3,800,000 3,800,000 0
g 1,900,000
Al 1,900,000
01 Al&H| 3,786,320 3,786,320 0
O29 =Xz =24 3,800,000, 000 *99.64% 3,786,320
g 1,900,000
Al 1,886,320
03 Al 20| 13,680 13,680 0
OBYFEXaE =4 3,800,000,000& x0.36% 13,680
SS2EXNDXN 2H 19,000 12,000 7,000
SSTAX DT HHIAY 19,000 12,000 7,000
201 et 12,000 5,000 7,000
02 232%H4| 12,000 5,000 7,000
OII=S2EXNILAN 2222 12,000
401 Al HI L =2 Tl 7,000 7,000 0
01 Al&H| 7,000 7,000 0
OS2I XNIDXN M= Y Ald2e 7,000
CoREERA WA 125,000 0 125,000
& 50,000
Al 75,000
LogEs A JHAAIY 125,000 0 125,000
& 50,000
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